## CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges.	See Invoice for actual schedule and charges.								
1, Rivera Doutnit	, hereby request station time as follows:								
IDENTIFY CANDIDATE TYPE FEDE	RAL CANDIDATE								
STATE	OR LOCAL CANDIDATE								
ALL QUESTIONS/BLOCK	S MUST BE COMPLETED								
Candidate name:									
Kivera Doutnit									
Authorized committee: Committee to elect									
Kivera Douthing									
Agency requesting time (and contact information):									
V N∕A									
Candidate's political party:									
Kepublican									
Office sought (no acronyms or abbreviations):									
Licutonant Governor									
Date of election: 315124	General V Primary								
Treasurer of candidate's authorized committee:  Notice Kiser									
The undersigned represents that:									
(1) the payment for the broadcast time requested has been fur	nished by (check one box below):								
the candidate listed above who is a legally qualified car	ndidate, or								
the authorized committee of the legally qualified candi	date listed above;								
(2) this station is authorized to announce the time as paid for by such person or entity; and									
(3) this station has disclosed its political advertising policies, including applicable classes and rates, discount, promotion and other sales practices (not applicable to federal candidates).									
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY								
Candidate/Committee/Agency	Station Representative								
Signature: // //	Signature: Michael Carlos								
Name: Noule Kiser,	Name: MICHAEL CARBONE								
Date of Request to Purchase Ad Time: 1/12/24	Date of Station Agreement to Sell Time: 1-15-24								

		CONTROL OF THE PROPERTY OF THE										
Federal Candidate Certification: The undersigned hereby certifies that the broadcast matter to be aired pursuant to this disclosure either (1) does not refer to an opposing candidate or, if it does, (2) contains a clearly identifiable photograph or similar image of the candidate for a duration of at least four seconds and a simultaneously displayed printed statement identifying the candidate, that the candidate approved the broadcast and that the candidate and/or the candidate's authorized committee paid for the broadcast or if radio programming, contains a personal audio statement by the candidate that identifies the candidate, the office being sought and that the candidate has approved the broadcast.												
Candidate/Authorized Committee/	/Agency											
Signature:												
Name:												
Date:												
TO	D BE COMPLETED BY STATION O	NLY										
Ad submitted to Station? X Yes No Date ad received: 1-15-24												
Note: Must have separate PB-19 Forms for each version of the ad (i.e., for every ad with differing copy).												
Federal candidate certification signed (above): Yes No N/A												
Disposition:  Accepted  Accepted IN PART (e.g., ad copy not yet received to determine sponsor ID)*  Rejected – provide reason:												
*Upload partially accepted form, then pr	omptly upload updated final form when co	omplete.										
Date and nature of follow-ups, if any (e.g., insufficient sponsor ID tag):												
Contract #: N/A	Station Call Letters: W 5 75 - FM	Date Received/Requested: /-/5-こり										
Contract #: $N/A$ Est. #: $N/A$	Station Location: CERRO G SP.00 NC	Run Start and End Dates: 1-17-24 70 3-3-24										
use this space to document schedule of to purchased or attach separately. If station	affic system print-out) or other documents ime purchased, when spots actually aired, will not upload the actual times spots aired information immediately should be place	reflecting this transaction to the OPIF or the rates charged and the classes of time d until an invoice is generated, the name										



## Broadcast Agreement Truth Broadcasting Corporation

4405 Providence Lane Suite D Winston-Salem, NC 27106

Phone: 336-759-0363 Fax: 336-759-0366

NETWORK	Date1.13.24										_ Phone: 336-759-0363 Fax: 336-759-0366												
Bill To:	Adv	Agency	R	ep Fri	n				Contract #														
Agency Commission	า	15	%	20%					Salesperson: Carbone														
Rep Firm Commission 15% 20%																							
Bill To:		Rivera	for Lt.	Gove	mor				Ord	er Type:	New	Ext		Can	. (	Chng PPD							
Attention:		N	oelle K	iser					Advertiser: Rivera for Lt. Governor														
Address:		noelle(	@rivera	4nc.c	om				Sales Type: Local Spot Industry: Gov							Governme	vemment						
Address:		P	O. Box	73				-								ite: 3.3.24							
		Mathewsw, N						-		g: Sta													
City, State:								-									V N						
Phone:		70-	4 702 :	2163		Notrizd Aff: Y N Co-op: Y										N Script:	Y N						
Stations	WTRU	MCDII MD	DII V	VLES	ĸ	UTR	мп	OD	10/	ואט או	POL	WKEW	WFN	MΩ	WPF	T WSTS	WTSB						
Stations						ITR		SJS			FOL	AAKEAA	441	IO WIFE		1 1010	WIOD						
				Digita						Total			:30		pot	80	P						
Station	Start Dat			ΙТ		R	F	Sa	Su			aypart	:60	-	ate	Total \$	С						
WSTS	1.17.24			_	1	1	_			2	_	a-10a	:60	\$	45.00	\$90.00							
	1.22.24	_		1	1	+			_	2		3p-7p	"	\$	45.00	\$90.00							
	1.29.24			1	1	-	├	-		2	_	a-10a	<u>"</u>	\$	45.00	\$90.00							
	2.6.24			1		1	-	_	_	2	$\overline{}$	3p-7p	<u> </u>	\$	45.00	\$90.00	_						
	2.12.24			1	1	-	1	-	-	3	1	<u>a-10a</u>		\$	45.00	\$135.00	_						
	2.19.24			1 1	$\overline{}$	1	-			4		a-10a			45.00	\$180.00							
	2.19.24			1 1	$\neg$	1	-			4		3p-7p	"	\$	45.00	\$180.00							
	2.26.24			1 1		1	1			5		a-10a		\$	45.00	\$225.00	_						
	2.26.24			1 1	1	1	1		_	5		3p-7p		\$	45.00	\$225.00							
	3.2.24	3.3.24	1	-	+-	+	-	1	1	2	-	Sa-7p	<del> </del> "	\$	25.00	\$50.00							
			_	+	٠.	+-	$\vdash$	-	_		<del>  _</del>	10	100			\$0.00							
WSJS	1.17.24			_	1	1	-	-		2	1	a-10a			40.00	\$80.00							
	1.22.24				1	+	-	-		2	1	3p-7p	,,	\$	35.00	\$70.00							
	1.29.24			1	1	+_	$\vdash$	-	_	2		a-10a	11	\$	40.00 35.00	\$80.00							
	2.6.24		$\overline{}$	1	_	1	-			2		3p-7p	"			\$70.00							
	2.12.24			Η.	1	-	1	-		3	_	a-10a		\$ 40.00 \$ 40.00		\$120.00							
	2.19.24			1 1		1	-	-	-	4		6a-10a		3 4		\$160.00							
	2.19.24			1 1	_	1	-	-		4		3p-7p	"	\$	35.00	\$140.00 \$200.00							
	2.26.24			1 1 1 1	_	1	1	-		5 5		a-10a	11	\$	40.00	\$175.00							
	2.26.24			1 1	+-	1	H	1	1	992		3p-7p	"	\$	35.00	\$40.00							
	3.2.24			+	+	+	+	1	5	5		6a-7p 6a-7p	11	\$	20.00	\$100.00							
	2.11.24	2.11.2	4	+	╁	+	$\vdash$	-	- 3	3	<del>  '</del>	υα- <i>ι</i> μ	<u> </u>	φ	20.00	\$0.00							
			$\dashv$	+	+	+	$\vdash$	$\vdash$			+		<u> </u>			\$0.00							
											Total	Dollars for	Order		_	\$2,590.00							
Special Instruction	าร										10141	2011410101	0.00.			<b>42,000.00</b>							
			PAG	SE 1 -	·1st :	3 wee	ks p	aid ii	n adv	rance -1.	17.24 -	1.31.24											
Approval	_	Adve	ertiser						-			Truth Net	work Mg	gr									
Truth Broadcasting Corno	ration and its st			advert	isina ca	ontracts	on the	hasis (	of race	or gender. An			-	1	or advertis	ing that purports to dis-	criminate on						



Date \_

1.14.24

## **Broadcast Agreement**

Truth Broadcasting Corporation 4405 Providence Lane Suite D Winston-Salem, NC 27106

Phone: 336-759-0363 Fax: 336-759-0366

Bill To:	Adv	Agency	Rep	Frm					Con	tract #										
Agency Commission		15%		0%					Sale	esperson:										
Rep Firm Commission	1	15%	20	0%																
Bill To:	-							-	Ord	er Type:	New	Ext		Can	X	Chng PPD				
Attention:	2	¥				1			Adv	ertiser:			Rive	era f	or Lt. G	Sovemor				
Address:	-								Sale	s Type:				Ind	ustry:					
Address:						Star	t Date:	e: End Date:												
City, State:							Billin	g: Sta	Standard Calendar Broadcast Calendar											
Phone:									Notr	izd Aff:	Υ	N	Co-op	):	Υ	N Script:	Y N			
	4							•												
		CRU WDRU		WLES Digital		KUTR NTR		OD	WTKD WI WKHF		POL WKEW		WFMO		WP	ET WSTS	WTSB			
Station	Start Date	End Date	М	Т	w	R	F	Sa	Su	Total Ads		Daypart	:30 :60		ipot Rate	Total \$	P C			
WDRU	1.17.24	1.18.24	IVI	+	1	1	_	Sa	Su	2		6a-10a	:60	\$	50.00	\$100.00	+			
WDICO	1.22.24	1.24.24	1	$\vdash$	1	<u> </u>				2		3p-7p	"	\$	45.00	\$90.00				
	1.29.24	1.31.24	1		1					2		6a-10a	п	\$	50.00	\$100.00				
	2.6.24	2.8.24		1		1				2		3р-7р	u	\$	45.00	\$90.00				
	2.12.24	2.16.24	1		1		1			3		6a-10a	u	\$	50.00	\$150.00				
	2.19.24	2.22.24	1	1	1	1				4		6a-10a	"	\$	50.00	\$200.00				
	2.19.24	2.22.24	1	1	1	1				4		3р-7р	11	\$	45.00	\$180.00				
	2.26.24	3.1.24	1	1	1	1	1			5		6a-10a	17	\$	50.00	\$250.00	$\perp$			
	2.26.24	3.1.24	1	1	1	1	1			5		3р-7р	"	\$	45.00	\$225.00	$\perp$			
	3.2.24	3.3.24	-					1	1	2		6a-7p	"	\$	25.00	\$50.00	-			
			-	_	700	-										\$0.00	-			
WCRU	1.17.24	1.18.24	+.	-	1	1	_			2	1	6a-10a	:60	\$	45.00	\$90.00	-			
	1.22.24	1.24.24	1	-	1					2		3p-7p	"	\$	45.00	\$90.00				
	1.29.24	1.31.24	1	-	1	1				2	-	6a-10a		\$	45.00	\$90.00 \$90.00	$\dashv$			
	2.6.24	2.8.24	1	1	1	1	1			3		3p-7p 6a-10a	"	\$	45.00 45.00	\$135.00	$\dashv$			
	2.12.24	2.16.24	1	1	1	1	1			4		6a-10a	11	\$	45.00	\$180.00	-			
	2.19.24	2.22.24	1	1	1	1				4	$\overline{}$	3p-7p		\$	45.00	\$180.00				
	2.26.24	3.1.24	1	1	1	1	1			5	_	6a-10a	"	\$	45.00	\$225.00	$\neg$			
	2.26.24	3.1.24	1	1	1	1	1			5		3p-7p	"	\$	45.00	\$225.00				
	3.2.24	3.3.24						1	1	2		6a-7p	"	\$	25.00	\$50.00				
												•				\$0.00				
																\$0.00				
																\$0.00				
Special Instructions												I Dollars for	Order			\$2,790.00				
Special manachons																				
								Pag	ge 2											
Approval		Advertis	er						•			Truth Netv	vork M	or						
		/ (0 / 0 / 10)	٥.																	



## Broadcast Agreement Truth Broadcasting Corporation

Truth Broadcasting Corporation 4405 Providence Lane Suite D Winston-Salem, NC 27106

Phone: 336-759-0363 Fax: 336-759-0366

Bill To:	Adv		Ager	псу	Rep	Fm					Con	itract#									
Agency Commission				15%	20	)%					Sale	esperson:									
Rep Firm Commission				15%		0%															
				.070		,,,						_				_		01	222		
Bill To:										•	Ord	er Type:		Ext				Chng	PPD		
Attention:	Advertiser: Riv													Rive	era f	or Lt. C	Sovemor		3		
Address:	Sales Type:Industry:																				
Address:		Start Date: End Date:																			
City, State:		Billing: Standard Calendar Broadcast Calendar																			
Phone:	·									•	Noti	rizd Aff:		N		Co-op: Y			Script:	Υ	N
Filone.	-								1)	•	NOU	izu Aii.	•	.,	00 00	•	•		Conpt.		
	WTRU WSJS	WC WH	RU VN	WDRU WRJD		.ES jital	KUTR NTR		WTOD WSJS		WTKD WI WKHF		POL WKEW		WFMC		WP	PET WSTS		WT	гѕв
											Total				:30		Spot	5,000 40 500 500			P C
Station	Start D			d Date	M	Т	W	R	F	Sa	Su	1		Daypart	:60		Rate		al \$		C
WTRU	2.12.2	-		16.24 22.24	1	1	1	1	1			3 4		6a-10a 6a-10a	"	\$	50.00		150.00 200.00	$\dashv$	
	2.19.2			22.24	1	1	1	1				4		3p-7p	"	\$	45.00		180.00	$\neg$	
	2.26.2			1.24	1	1	1	1	1			5		6a-10a	п	\$	50.00		250.00		
		2.26.24 3.1.24			1	1	1	1	1			5		3р-7р	ii .	\$	45.00	\$2	225.00		
	3.2.2	3.2.24 3.3.24		.3.24						1	1	2	_	6a-7p	"	\$	25.00		50.00	$\dashv$	
		_						_					_				0.00	$\dashv$			
:-					-			_					_			$\vdash$			0.00 00.00	$\dashv$	
					$\vdash$														0.00	一	
										<del>                                     </del>							\$0.00				
																			00.00		
																		\$0.00			
																			0.00	$\dashv$	
															-	L	2		00.00	$\dashv$	
		-+						-					-			$\vdash$			0.00 00.00	$\dashv$	
		$\dashv$						_								$\vdash$		\$0.00			
											<del>                                     </del>								0.00	$\neg$	
									1									\$0.00			
																			00.00		
		$\dashv$											_			_			0.00	$\dashv$	
		$\dashv$				_	_	<u> </u>	_				-			-			00.00	-+	
													Tota	I Dollars for	Order			\$1,05			
Special Instructions	5												1010	ii Bollaio ioi	Oldo.		ļ	<b>\$1,00</b>		4	
										Pag	je 3										
Approval																					
	,		0	Advertise	er									Truth Netv	work Mg	gr					

Truth Broadcasting Corporation and its stations do not discriminate in advertising contracts on the basis of race or gender. Any provision in any order or agreement for advertising that purports to discriminate on the basis of race or gender, even if handwritten, typed, or otherwise made a part of a particular contract, is hereby rejected. Truth Broadcasting requires a thirty day written cancellation notice. Buyer agrees to pay for advertising ordered within that thirty day period regardless of whether it airs (in the cases of advertise supplied content.)